
Aire et Volume d’un Tronc de Cône (H)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
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r1 = 81 ft

h = 135 ft

r2 = 27 ft1.

r1 = 60,04mm

h = 92,34mm

r2 = 37,43mm2.

r1 = 120 dm

h = 180 dm

r2 = 60 dm3.

r1 = 114,7 nm

h = 176,7 nm

r2 = 65,1 nm4.
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Aire et Volume d’un Tronc de Cône (H) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 81 ft

h = 135 ft

r2 = 27 ft1.

Aire: 72.235 ft2

Volume: 1.339.779 ft3

r1 = 60,04mm

h = 92,34mm

r2 = 37,43mm2.

Aire: 44.837,02mm2

Volume: 701.362,23mm3

r1 = 120 dm

h = 180 dm

r2 = 60 dm3.

Aire: 163.842 dm2

Volume: 4.750.088 dm3

r1 = 114,7 nm

h = 176,7 nm

r2 = 65,1 nm4.

Aire: 158.313,3 nm2

Volume: 4.600.287,6 nm3
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